Lecture 26
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. Previously, the activation function is a linear (identify) function, where
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* Therefore, we need to integrate h’(zi(l)) in the backpropagation
formulation derived earlier.
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The newly defined D(3)

The gradient of the output error with respect to the
input of the final layer Z(3) is:
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Modified Gradient of the Error wrt. Weights
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Modified Gradient of the Error wrt. Biases
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Modified Relation between D(2) and D(3)
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Modified Backpropagation Rule
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Modified Gradient of the Error wrt. Weights (Level Two)

Similar to the previous derivations, for the 2" |ayer:
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Where D(2) is obtained by back propagating D(3), and A(1) = [xz] is the input vector.

Modified Gradient wrt. Biases (2"¢ Layer)
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Summary of the Results
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